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FeT-11 faws- CAE q9g- 1 HeT UIteh-40
Ty fAger:-
> gt wraRaE g |

It is mandatory to answer all the questions.
> Tl dr A et 40 |
The total number of questions is 40.
> I® T g 1 3 Freifa € |
Each question carries 1 mark.
> T3% T F forg 9 fasre Ru g § | 57 & v 98t e 7 waw i |
Each question is provided with 4 options. Choose the correct option.

> AT ST & T FS 3F TG1 e SO |

There will be no negative marking for any wrong answer.

1. 693.607 ST HIeT qUITeh & HieeTehe deh IclsU :

Find out the value of 693.607 correct to the nearest integer :
A. 693.607

B. 0.607

C. 694

D. 693

2. 846.807 T TATY AT SBTS & Tfoolhe g1 :

The value of 846.807 correct to nearest ten will be :
A. 84.68

B. 847

C. 850

D. 846.8

3. 0.0768759 T Hed 4 AT 3ehi deh TAITAIT:

Find the value of 0.0768759 correct to 4 significant figures:
A. 0.0768
B. 0.07688
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C. 0.07687
D. 0.076

e

feTifohd & T hieT 198.9626 + 87.538 T TEUSS B & ?

Which is the standard form of 198.9626 + 87.538?
A. 198.9626 + 0.87538
B. 198.9626 + 8.7538
C. 19.8926+ 8.7538
D. 1.98926-+ 0.87538

5. 5.6 x .00782 ST AT 9 G :

The standard form of 5.6 x .00782 will be:
A. 566.0x7.82
B. 0.0056 x 7.82
C. 5.66 x.782
D. 56.6 x .0782

6. HhTI Al & (1205)2 T ATH TG & HieaAhe M

The value of (1205)? by contracted method correct to lakh will be:
A. 1x10°
B. 15x10°
C. 1.5x10°
D. 14.6 x 10*

7. 1005.2 + 10.005 ST HTeT SAHSI & Ueh 37eh deh Y Tt :

Find the value of 1005.2 + 10.005 correct to one place of decimal:
A. 100.4
B. 100.5
C. 1004.7
D. 10.04

8. 89.005 + 0.00634 &T HATeTeh FTE

The standard form of 89.005 + 0.00634 is
89005 + 6.34

0.089005 + 6.34

8.9005 + .000634

8900.5 - 634

oOo0wp

B. 60,000
C. 6,00,000
D. 600
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10. 80,000 HIeT = ........ IETCIP: [k

80,000 metre = ......... Kilometre
A. 8
B. 80
C. 8000
D. 0.8

11. IfE X FT 10% TET & Sy FT20% § AT X : y RIS &

If 10% of x is the same as 20% of y, then x : y is equal to :
A. 1.2
B. 2.1
C. 51
D. 10:1

12. QY HEATU 7 : 8 o 37eqarel H €1 ATE Tedeh & 3 S5 ferr SRy &l 3HehT 3e]d1el 8: 9 &1 ATl &
-
Two numbers are in the ratio of 7: 8. If 3 is added to each of them, their ratio becomes
8:9. The numbers are:
A. 14, 16
B. 24, 27
C. 21,24
D. 16, 18

13. A 3R B &I 31 3: 2 & 3e]dTel H 3 o4 5: 3 & T4l # ¢ | Afe Fedeh 3 1,500 STcAr § v B
PTG

The income of A and B are in the ratio 3: 2 and their expenditure in the ratio 5 : 3. If each
saves % 1,500, then B's income is :

A. %6,000

B. %4,500

C. %3,000

D. %7,500

14. 9 AB=6:7TdB: C=8:9aTA: B:C¥¢:
If A: B=6:7 and B: C = 8: 9, then A: B: C is:

A. 24:28:63
B. 48:28: 63
C. 48:56:63
D

. SoTH A IS =T8T (None of these)

15. Teh 31 A 120 ST & 40 Tl §U| 914 3R el T a1l &

In a class of 120 students 40 failed. The ratio of pass and fail is :
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o0w»

2:1
3:3
1.2
3.2

16. T 3R TS & dclel o1 37191 9:5 & | T aTS T ActeT X 600 BT il UeHH ol Akt G141 :
The ratio in the salary of X and Y is 9: 5. If Y's salary is 600, then X's salary is :

A.

31,000

B. %1,200
C.
D. %1,080

31,400

17.FE X :4::18 : 24 A X FT AT 5 ; If x:4::18: 24, then the value of X is :

A.

B.
C.
D.

a b~ ownN

18. A0 T fa=1TeT HeT31 & STl T HET 1 341l 5: 6 § | Ife; aMOTeg H 400 BT & oY

CRIGEEBIEIE IR IC IR

In Commerce and Science classes the number of students is in the ratio of 5: 6. If there
are 400 students in Commerce, the number of students in Science is :

A.
B.
C.
D.

1000
400
300
360

19. e 10 AH T HeT X 1.245 §, @F 1 Tohollarme & Hed &
If price of 10 g is ¥1.245, then the price of 1 kg is:

A.
B.
C.
D.

31245.0
1245
312.45
31.245

20. Ife T 100 9T NI 2 2.125 &1, ar T 10,000 hT SHHTUT g1

If commission on 100 is ¥2.125, then commission on 10,000 is:

A.

B
C.
D

212.50

. %¥21.25

32125.0

. ¥21250.0

21. If¢ 6 31T 4 B F TS & 31 6 B, 12 e & ST & ar 30 37 fhdel Tea & RIS 82 If

6 mangoes = 4 apples, 6 apples = 12 oranges , then 30 mangoes = ........ oranges
A. 40
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22. = e8| (Fine Gold) =

oo w >

18 3 & HI=T (carat fine gold)
21.6 3 IS A= (carat fine gold)
0.9 3% EEr AT (carat fine gold)
g YT ST HIe (carat fine gold)

23. gfe 42 7Y 28 HAT & I &Y 31X 70 HA 30 St & S & aY 70 IR fohsy Blst & SeT

giafr 2

If 42 cows are equal to 28 buffaloes and 70 buffaloes are equal to 30 horses, then how
many horses are equal to 70 cows ?

OO w»

20
10
30
40

25. Ueh [qcATerA H BTAT I HE&AT 60%, Tic; ST T FEAT 520 § dl ST hT HEATE -

If 60% of the students in a school are boys and the number of girls are 520, the number
of boys are :

A.

B
C.
D

780

. 772

680

. 580

26. (50 + 50 T 50%) = ?

A.

B.
C.
D.

50
75
100
150

27. 9 T ool ShidAeH & 25% + 20% + 10% & HTUR T Jo el e graf :
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The equivalent discount rates on the basis of three successive discounts 25% + 20% +
10% is

A. 65%

B. 55%

C. 64%

D. 46%

28.% 1,100 == #T a&q ¥ 1,000 ¥ 5= 92 9g T I R

By selling an item of ¥ 1,100 in ¥ 1,000, the rate of discount is :
A 11%
. 10%

B

C. 91 %
11

D. 115%

29. Ueh GhleTR Hef T3l OR 10% FE ST 8| Afe hIg AMgeh R 1,470 T oo TG § @ fevciat
R A T 2

A shopkeeper offers a discount of 10% on all the items. If customer purchase items worth
1,470, how much money he had to pay?

A. %1,330

B. %1,323

C. 1,325

D. %1,300

30. Tsh TAUe fashl 9T 15% HT T A 2 1,500 & HereT T IR & ar fSshr g

An agent is entitled to a commission of ¥ 1,500 @ 15% on turnover. The turnover is :
A. T1,000
B. 10,000
C. 35,000
D. %50,000

31. Ueh TSAUT 5% HHAAT TAT 1% TRRMET HaTreT a8t el & | A a8 X 1,240 1 Fshr dar g ar
3T el AT

An agent charges 5% commission plus 1% del-credere commission. If he sells for
1,240, his total earning is:

A. %62

B. %74.40

C. %85.20

D. %49.70

32. Uah I &Il X 210 FT a7 T 2 21,000 F IR SIS SolTell o T H T 150 Yred adT & | 9T
37T SATOIT T & AT BT ?
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A share-broker receives 150 as brokerage on selling the shares of ¥ 21,000 3210 per
share, What is the rate of brokerage per share?

A R
B. %1.50
C. 22
D. %3

33. IS eeT WTLNOT SATST &hT & { 2 ST H T 880 T7UT 3 ST 3 X 920 B AT § | HeTerel I UTAE -

A sum of money at simple interest becomes % 880 in 2 years and %920 in 3 years. Find
the principal amount is:

A. %840

B. %800

C. %760

D. %600

34. IS &t 10 TS & SYILAT &1 ST 8 ot S8 et I[AT gled & Forw it o e gty 2

A sum of money doubles itself in 10 years. The number of years it would triple itself is :
A. 25 years
B. 15years
C. 20 years
D. None of these

35. 8% T T A 2500 T 2 IY o ToIT FTLRUT SATST g4

The simple interest on 500 @ 8% for 2 years is :
A. %100
B. %800
C. %80
D. %40

36. WWW%H}[% (The formula for calculating principal is) :

PXRXT
A.
100

B Interest X 100

" Rate x Time
C Interest X 100

" Principal XRate

Interest X 100

D.

Principal x Time
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37. e TR IX 2 &t T <Ishgefer sATST X 52 8 3R SH 9T Scieil &1 37afer T AIERoT S37T 350 &
AreIgfaerd Farg ?

Compound interest on a certain sum of money for 2 years is 52 and the simple interest
for the same period at the same rate is 50. The rate percent is:

A 2%

B. 4%

C. 6%

D. 8%

38. I 20 TTSAT 1 3T Hed 15 BIST & TashT Fed & ST &1 dl o137 T FicT2rel T &7

If the cost price of 20 watches is equal to the selling price of 15 watches, what is the
percentage of profit ?

A. 10.5%

B. 33§%
C. 43§%
D

. 75%

39. ol a&] T 20% 1l IX T 60 H ST IAT| T T 5h T FHed T 81T :

An article was sold for ¥ 60 at 20% loss. Its purchase price would have been :
A. %65

B. %70

C. %75

D. %80

40. 3 AHT Ao : FT AT 3 : 4@ AN AT &M &

If selling price: cost price = 3 : 4, then percentage of loss is:
A. 50

B. 30

C. 25

D. 20

SIRIIUS 9AfSID 3fofielol ud uforgiur ufyug , il [SifseT u%el Ul | (2023-24) Page 8 of 9



ANSWER KEY

CLASS-11

SUBJECT-CAE

Q.NO. | ANSWER | Q.NO. | ANSWER
1 C 21 A
2 C 22 B
3 B 23 A
4 C 24 D
5 B 25 A
6 B 26 B
7 B 27 D
8 A 28 C
9 C 29 B

10 B 30 B
11 C 31 B
12 C 32 B
13 A 33 B
14 C 34 C
15 A 35 C
16 D 36 B
17 B 37 D
18 B 38 B
19 B 39 C
20 A 40 C
SRS SID 3fofRieIol ud uforsor ufdug , ek [HATSTT UssT U | (2023-24)
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